V7 WMaths Knowledae Oraaviser Topic 3: Place value and rounding

What must T be able to do? Key vocabulary
O Read avd write whole numbers in figures and words. whole A number with no fractional or decimal parts
0 Read and write decimals v figures and words. wumber | does vot include neaqative wumbers.
O Understand decimal notation and place values. Tuteger | A whole iumber. T+ can be positive, negative
Sparx 127, M704 or zero.
[l Round whole numbers +o +he nearest 1000, 100 or 10. Figures A number written in digits.
Sparx M111
[ Use the number line to display decimals and round Round To make a number simpler but keeping i+s
decimals +o the wearest whole number, to 1 or 2 value close o what it was.
decimal places. Decimal A decimal is used +o show values swmaller thavn
Sparx M763 one whole unit,
0 Round off a number +o a required number of decimal Decimal The vumber of digits after the decimal point.
places. places
Sparx M43 Estimate | Estimating is used to make complex
U Estimate the answer to a given problem by rounding +o calenlations simpler, and used +o roughly
the nearest whole number or +en, hundred etc. caleulate the outcome or result.
Sparx M3 79
Place Value . Estimate/Approximate ‘

2(52.3 is, Three thousaunds, Six hundreds, five teuns, +wo ones and three

Round eaclh namber to an appropriate value

tenths and thew calenlate the remaiving sum
ol | €9 240 - 20% = 340 - 200 =140
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Placelolders i
3 billion, 4 hoawmdred and 7 willion, 10 thonsand, & hundred and +wenty
seven
Rounding to powers of 10 Rounding to decivmal places (d.p.)
e.0). rowd 4652 to the e.0). rownd 0.3432 to the
nearest 1000 4052 1 decimal place o.%i%z
v
4000 4500 @ @ 0.35 0.4
nearest 100 4@*62 2 decimal places 0.34%2
4600 4650 @ 0.34 0.245 0.35
nearest 10 4(@62 3 decimal places O.%i%?,
@ 4655 466D @ 03465 0.349

To the nearest 1000 is 5000, nearest 100 is 4700 and
nearst 10 is 4650.

To1.dpis 0.3, to two dp. is 0.35 and +o three dp it is
0.24%




